Lezioni 2 - 3

DISEQUAZIONI:
Dxl+x+1<4 5 2)2x+l=sx-3 ; 3)2x-3<x-1; 4)42"—‘;5<0;
X +
3x+5 2x x+1-+/x
5)——2= 52 ;6 >3 7N X2 50
N ) x* -1 ) 3-+/x
x+3 x=2
8) (%) <(§) : 9) 4% 5 (8)*(64)"
10) log(x* —3x +4) = log(4x-6) ; I11)log(x—1)=1+log(2x —3)
Equazioni ¢ Disequazioni in Modulo:
12) 2x-1=|x+3] 5 13)x*-2x[+1=0 ; 14 x’ +2}{+1=0 ;
15) | -x>2 ; 16) ‘2x—‘x2—3H<1 . 17 2 =2+150 ;
18) Jaa|-2<1 ; 19)%& : 20) ‘x—‘x2+x+2H<4 :
X —X
21) [y =3[z x+1 ; 22) —%|—2x—6|<0 D2 x> -1

24) Jax* -1=21-|x

; 25) 1s[2cosx|<+/3,x €0, 2]

RISULTATI:
-1-4/61 -14+4/61
1) 61 146 C ) x=44242 0 ) lex<2; 4)x>1:5) x>52; 6)1<x<i;
2 2 NG
7)x<3:8) x>-112; 9 x<-2vx>3; 10)32<x s2vx=5; 11)32<x sze_i S 12)S=1{-2/3:4};
e_

13)S={-1:1}; 14)S=@; 15)x<-1; 16) =1++/3<x<-1+/5vI+3<x<l++/5; 17)Vx#=1;

18) V2 =x<+/3; 19) @ :20) =2 <x<+/2 ;21)x=1: 22)Vx#-3; 23) 0<x<2 ;
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